" Mole - Mole Problems © Name K E\‘I

, Write the correct, balanced chemical reaction to solve the 'fol]owing problems. Be sure to also label the type of reaction
rhat is happening.
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1. Five moles of lithium chloride are reacted with excess gaseous fluorine. How many moles of lithium fluoride are
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28%Five moles of powdered magnesium are slowly stirred into an aqueous solution of chromium (I1I) nitrate. How many

_ moles of chrom?lxm are ?roduced in the reaction’.3 M 3 %7 CYKNO3) 3» — 3 M %(NO 3)1 I+ za,
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3. How many moles of sulfurous acid (H,SOs) are produced from the reaction of 2.5 moles of sulfur dioxide and excess
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DQ' 4. How many moles of silver carbonate are produced when silver nitrate is reacted in excess with 6.29 moles of sodium
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Dg 5. If 4 moles of sodium sulfate are reacted with excess barium hydroxide, how many moles of barium sulfate are
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6. Excess potassium hydroxide is reacted with 34 moles of copper (I1) sulfate. How many moles of copper (II)
hydroxide are produced?
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Mass — Mass Problems Name KE\!

The purpose of these problems is to determine how much you will need of the reactants to get a
specific amount of the products.
A STEP-BY-STEP METHOD
Write the balanced equation with the proper chemical formulas for each substance.
List the type of reaction.
Change the given amount of grams to moles using the formula mass.
Setup the mole ratio between the given and the answer from the balanced chemical equation.
Multiply the number of moles by the mole ratio.
Change moles of the answer to grams using the formula mass.
Problems
1. Phosphorus + oxygen —> tetraphosphorus decoxide
Given 64 grams of oxygen, how many grams of tetraphosphorus decoxide is produced?

O 4P +50, = P,0,, (& S¥nthesis
@@ g O2] \ el O2 :

S

Zmol O2)lmet 40,

M E7) 9 0z 4
- T wmol
@ - V5 hol 02 P40 10
AmolP4Di0|293.82 —
I\ mol ) | \“5553 P40y
2. Sulfur dioxide + oxygen -> sulfur trioxide

Given 64 grams of sulfur dioxide, how many grams of sulfur trioxide are produced?

® 20, + 0, — 250; @ synthesis
@Misc,_“mglq

B\ vool $02] 2 e 50s = limol 804

lo4.ga-01 [2 ot SO,
\ wmol SD3| $0.014 —

3. Ammonium nitrate = dinitrogen monoxide + wat€r
Given 64 grams of ammonium nitrate, how many grams of water are made?
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4. Zinc + phosphoric acid - zinc phosphate + hydrogen
Given 64 grams of zinc, how many grams of hydrogen gas are made?
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5. How much sodium sulfate will be produced if 6 grams of sodium chloride is reacted with
excess sulfuric acid?
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6. Ten grams of iron (ng su ateoig‘ dissolved in water and mixed with a solution OT carctumt
hydroxide. How much iron (II) hydroxide is formed from the reaction? @ DR
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7. 1f 15 grams of sulfur trioxide is bubbled through excess water, how many grams of

sulfuric acid are produced? @ 3\.‘“+ht3{§
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Mass — Mole Problems
Write the correct, balanced equation for the reactions listed. Identify the type of reaction that is
taking place. Answer the questions based on the information given in each problem.
8. Sodium + lodine = Sodium iodide
How many grams of sodium iodide are produced from 2.5 moles of sodium?
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9. Nickel (IT) chlorate = nickel (II) chloride + oxygen j — A

How many grams of oxygen are produced from 1.5 moles of nickel (I) chlorate?
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10. Aluminum + sulfuric acid - aluminum sulfate + hydrogen \w‘

How many grams of aluminum suifate are produced from 2 moles of sulfuric acid?
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11. Silver nitrate + zinc chloride = silver chloride + zinc nitrate
How many grams of zinc nitrate are produced from 5 moles of zinc chloride?
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12. Calcium reacts with oxygen to form calcium oxide. If you start with 3 moles of calcium, how
many grams of calcium oxide will you produce?
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13. Iron (1) sulfate reacts with ammonium sulfide. If you start with 2.5 moles of ammonium sulfide,
how many grams of iron sulfide would be produced? Doulpl¢ ftplau ent
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14. Barium carbonate decomposes into barium oxide and carbon dioxide gas. How many grams of
barium oxide are produced if 44 moles of CO; were also produced? ngoM?QSVb\Oh
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15. Potassium iodide will react with chlorine gas to produce solid“iodine and potassium chloride.
How many grams of chlorine gas are necessary to react with 2.85 moles of potassium iodide?
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